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QUESTION 1

Which two primary categories are displayed on the overall health page of the assurance component in the Cisco DNA
Center? (Choose two.)

A. Wired

B. Client

C. Access-Distribution
D. Server

E. Core

F. Network

Correct Answer: BF

QUESTION 2

Which protocol runs between the vSmart controllers and between the vSmart controllers and the vEdge routers, and
unifies all control plane functions under a single protocol umbrella?

A. BGP
B. OSPF
C. IKE
D. OMP
E. VRRP

Correct Answer: D

QUESTION 3

Which two statements are true regarding Cisco ISE? (Choose two.)

A. It distributed deployments, failover from primary to secondary Policy Administration Nodes happens automatically.
B. The number of logs that ISE can retain is determined by your disk space.

C. ISE supports IPv6 downloadable ACLs.

D. ISE can detected endpoints whose addresses have been translated via NAT.

E. ISE supports up to 100 Policy Services Nodes.

F. In two-nodes standalone ISE deployments, failover must be done manually.
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Correct Answer: AB

QUESTION 4

What should you do if you are looking at a strategic win with a customer and the customer wants to examine Cisco ISE
for longer than a few weeks?

A. Give them some of our flash files that can be played on any browser.
B. Set them up with an account on a Cisco UCS server that hosts ISE.
C. Set them up with a dCloud account.

D. Give them our ISE YouTube videos.

E. Provide them with a downloadable POV lit.

F. Point them to our dCloud demo library.

Correct Answer: C

QUESTION 5

Which two statements regarding Cisco SD-WAN vEdge routers can mitigate DoS attacks against the infrastructure?
(Choose two.)

A. Open Certificate Authority and automated enrollment feature.
B. By default, all incoming traffic is denied at the transport (WAN) side interfaces.

C. Only authorized controllers are allowed to communicate back to the vEdge router after the vEdge router establishes
connections with the controllers.

D. In case of direct Internet access, the only traffic allowed back is the traffic matching the state table entries on the
vEdge router.

E. The vEdge routers run on hardened Linux operating systems.

Correct Answer: CE
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